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CC Algebra

Cumulative Review #3.4
Show work for all questions for full credit 

& write your answers on the lines provided!!!
(If you feel no work is needed you must explain your reasoning.)

1.  The expression 64 – x4 is equivalent to which other expression?


A.  (8 – x2) (8 – x2)


B.  (8 – x2) (8 + x2)

C.  (x2 – 8) (x2 – 8)

D.  (x2 – 8) (x2 + 8)











1. ________________

2.  What is the simplified form of −3z2(z + 2) – 4(z2 + 1)?


A.  −7z2 + 1


B.  −3z3 – 4z2 – 6z – 4


C.  −3z3 – 2z2 – 4


D.  −3z3 – 10z2 – 4











2.  _______________

3.  The area of a rectangular window is given by the trinomial x2 – 14x + 48.  The window’s length is (x – 8).  What is the window’s width?











3. _______________

4.  Solve the following compound inequality and graph the solutions on a number line.



3f + 3 < 6  or  7f – 20 ≥ 50
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4. ​​​​​​​​​​​​​​​​​​​​________________
5.  Graph the following piecewise function on the axes provided.
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